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Qﬁesticns 1 ta 15 carry 2 miarks ‘each. For questions 1 to 15, four options ara
given. One of them is the correct answer: Make your choica (1, 2, 3 or 4). Shade
the correct ovals (1,2, 3 or 4) onto the Optical Answer Sheet provided.

All diagrams In thls paper are not drawnﬁgﬁscais unless stated otherwise.
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1 The value of the digit2in 72 415 is .

1y 20
(2) 200
{3) 2000
{(4) 20000

2, 45Mhousands and 8 1ens IS the same 3s

) 458
(2) 4560
(3) 45008
(4) 45060

3 Which of the following is a factor of both 18 ang 427

)y @
@ 7
(3 9
{4 %

. , 1
4, ‘Which of tha following is not an equivalent fraction of 5 T

1) %
3
2 71
2
(3) 73
; 8
W %



What fraction of the shapes in the box sre A’?

AO A O A
AAOAD

5
) 19
/ 8
@ 7
4
G 1
4
@ &
The digit § In 14.57 stands for § .
(1) ones
(2) tens
(3) tenths
(4)  bundredths

10-3.04=[7 |, Whatis the missing number in the box?

(1
{2)
(3)
(4)

8.6
6.96
7.6.
7.96



8. Ivthe figure shown below, ABCD is a rectangle. Find £ CAE.

T <8
157
D B >
(1) 3o
(2) a5
(3) 45°
(4) &0°

9,  JKLMis a square. Find the sum of ZKJP and ZJMP.

dr= K
§0*

P

M : 367 L
(1) 30°
(2]  54°
(3) a84°
4)  gg*



10,

1.

The figura below shows redangle ABCD and square CEFG overfapping
each other. Find ZBCG.

A
L.
L
D

(n 21

2y 317

(3) 69

@ 7

Which of the following figures is symmetrical?

bW \ | d [l ot} A N

\ [T L1 )
(1 A
2 B
B C
4 D

A



12.  The table shows tha number of students from P4 Courage whovisited the
school library from July to October. There are 40 students in the class.

Month ; Boys Giris
July 19 15
August e R ‘ T
Septembar o2 BT
October 18 1%

How many boys did nat visit the Tibrary in August?
{1)
(2)
(3)
(4)

B N -

13:  The area of a square is B4 cm?. Find the perimeter of the square.

Ares = 64 cm?
(1) 8om
{2) 16¢em
{3y 32cm
(4} 84 cm



14,

15,

1 slice of cake ¢ost as much as 3 muffins, John pajd $30 for 2 slices of
cakes and 4 mufiins. How much does 1 slice of cake cost?

()
(@)
&

(4)

$5
59

53
$10

The figurs shaws an 8-point compass. After making a 225° tum in the
anti-clockwise direction, Amy is facing south-sast (SE) now. Which
direction was she facing at first? \

(1)
(2)
(3)
(4)

North
South
East

West

|



Section B (42 marks)

Questions 16 to 36 camry 2 marks each. Show your working clearly in the space
provided for each question and write your answersin the spaces provided, For
questions which require units, give youranswers in the unils ststed.

All diagrams in this paper are not drawn fo scale unless stated otherwise.

Do notwrita
; m this space.

18.  Write twelve thousand and ninety-nine in figures.

Ans:

17.  Fillin tha blank with the correct number in the number pattern below.
450, 425, 400, . , ; 350

Ans:

18.  How many one-fiths are there in 1 whole?

Ans
19.  What is the missing number in the box?
2. 10
R
Ans v l




20.  Inthe figure, name the fwa angles that are graater than 90°, Do it write
lin this spaca
Ans: £ and £

21,  Write the decimal represented by A.

HERTRANSERAEN

SRAREZTET ik ik

0.6 T 07

A
Ans:

oy

Amarige the following numbers from the smailest fo the greatest.

3
— , 0606 , 0.066

Ans:

[smallest) " (greatest)




i ;
23. Expressw as a decimal.

Ans;

Do not writa
In this space

24. Round 18.64 o the nearest whole number.

Ans:

25, The line graph shows the amount of rainfall recorded at the end of each
month from January o June,

30
25
Amount 'ﬁ% ; f . (
m(lgf;” 15 tiﬁ‘{#ﬁﬁ‘%
10 ==
5 1
0 L

January February March April May June

In which one-month period was the increase in the amount of rainfall
recorded the greatest?

Ans: 1n

10



26.

Some factors of 81 are 1, g and 81. What are the other 2 factors of 817

Do nat write
[l this space
Ansc and
27.  Pencils are sold In packets of 8 and erasers are sold in packets of 9. Paul
wanted ta buy the sama number of pencils and erasers. What is the least
number of packets of erasars Paul neads to buy?
Ans:
28. The time on the clock now is 1 p.m. How many right angles does the hour

hand need to tum to show 10 p.m.7

Anss

11




29,

In the figure below, the dotted line AB is the line of symmetry. Shade the
fewest possible number of squares lo make the figure symmetric.

£

= A

//

20.

The bargraph shows the number of books that each student borrowed from
the school library. Part of the graph is smudged with ink.

36

i

28
24 - :
Number 20 - 5
of

e B At R e ; A ., !
LT ETTTTEET T T T Vg

0 1 Z
Number of books each student borrowed

There were 76 students who borrowed at least 1 book. How many of
these students borrowed 3 books?

Ans:

Do not writa
in this spacs

12



31. Draw a squaré that has twice the area of rectangle A on the square anid  |og notiunie
below such that the square does not overlap Rectangle A. Label the  |in this space
square B. Y

|
32.  The figure below is made up of a square and a réctangle.
Find the area of the figure, |
7 cm
i .
« 10 cm 11cm

£ 3 — o " I |

" 4
Ans:. cm? |

13



33. 'The figura below is made up of 7 idedical squares. Find the perimeter of B ot il
the figure. in this spats.
- >
36 cm
Ans! __©m
34,  Astring was 10 m long. Sam used 3.16 m of it. He then cut the remaining
string equally Into 8 pieces, What was the |engtty of each piece of string?
Ans: m

14,




35, The total mass of a basket containing 7 identical balls was 9.48 kg When  |5g -ch e
3 balls were taken ou of the basket, the total mass of the basketand the | tis space
remaining balls became 5.67 kg. What was the mass of 1 hall? |

Ans: kg {

38. The sum of two decimals is 36.56. The greater number is three limes as
much as the smaller number. Find the greater number.

Ans.

15



Questions 37 ’ta &n ww 3 marks each. Quesfions 41 fa 44 camy 4 marks each.
Show your working clearfy and write your answers in the spaces provided. The

number of marks available is shom In brackets [ ] atthie end of each question
or part-question.

37. Serene visits the library every 3.days. Devi visits the library every 4 days.
They first met al tha library on 10 March. What Is the next date both gids
will mest again at the library?

Ans: [3]

Da notwiite

in this gpace:

; 1

38. Theimass of a papaya is -12- kg. A‘waiematonwﬁ“ighs%— kg more than
the papaya. Find the tofat mass of the papaya and the watarmelon:
Express your answer as a mixed numberin the simplest form.

Ans i3]

18



39,  Arectangular tank was partly filled with water. A tap was turned on until the
tank was complately filled. The line graph shows the amount of water in the

tank over 60 minutes.

50
\‘ 40 w » B ,
Amount B! /7 ]
of water - P RS
in the o
tank (9 |
0 = I
- 10 20 30 40 50 60
Yime (min}
(a) How many lires of water was in the tank 10 minutes after the tap
was tumed on?
Ans;
(b)  How many litres of water was added to the tank over the 60-minuta

Ans:

Do not writa
in this spaca

sb

(2] H i

17




40. e figure below is made Up of § identical rectangles. A
| v : |in this space

F 3

' 26cm

(3)  Find tha length of 1 rectangle.

Fr_—

Ans! 111

(b)  Find the area of the figure.

Ans: 21

18



41,  Thresboys sold a tolal of 745 lickets during a catnival. Abel sold twice as.

il \ SALOL P : ! Do not writs
many lickets as Nell. Hamid sold 135 fewer tickets than Absl. ~in thie space

(a)  Huw many tickets did Nel seir?

Ans: o “_

(b) How many tickets did Abel sell?

Ans: _ 11

19



Do nat write

42, Kevin has an equal number of black and white buttons, There are 2 holes
' [[rvthis space

on each white button and 4 holes on each black buttori There is g total of
768 holes ori tha buttons.

(a) How many black butlons are there?

Ans: 21 —l

(b}  Tosewashirt, Kevin needs 3 black buttons for every 2 white buttons
used. What is the greatest number of shirts he can sew. with the

butions ha has?

Ans: . [2]




s{gilléd% of t. Then she had 480 ritfeft.

{a) What fraction of the water was [eft In the jug?

Ang:

. AJug was completely fillsd with water at first. Sti dra:ik:;% of the waterand. [P motwiits

r this spacs

-_.[4] W:

{b) How much waler was in tha jug at first?

Ay

w) )

21



Mts Ong bought some frujts at 2 sale. Mangoes are sold (n packs of 2 whila:
‘apples are sold in packs of 3.

ﬁpﬁt&&

e o i i

2 for §5.20 “aforsd

{a})  Sha bought m mangoes. How much did she pay for the mangoes'?

Ans, (2] (L

Da nat write:
in this spacs

(by  With the same amount of money that she paid for the mangoes,
‘what is the greatest number of apples she can buy?

- End of Paper
22




SCHOOL

LEVEL

SUBJECT :

TERM

CONTACT :

ROSYTH PRIMARY SCHOOL -
PRIMARY 4

MATHEMATICS

SA2

PAPER 1 BOOKLET A

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10
3 4 1 2 1 3 2 2 3 3
Q1 Q12 Q13 | Q14 | Q15
4 4 3 2 1

PAPER 1 BOOKLET B

Q16)

12099

Q17)

375

Q18)

5

Q19)

15

Q20)

<band<e

Q21)

0.67

Q22)

0.066 ,%, 0.606

Q23)

0.07

Q24)

19

Q25)

February to March

Q26)

3 and 27

Q27)

2

Q28)

3

Pgl
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Q29)

Q30)

. ..
19+ 25 =44
76 - 44 =32

Q31)

Q32)

68 + 49 = 117cm?

Q33)

18 + 36 =54
54x2=108cm

Q34)

10-3.16 = 6.84
6.84+6=1.14m

Q35)

3b----9.48-5.67 =3.81
b----3.81+3=1.27kg

Q36)

4u ---- 36.56
u----36.56 +4=9.14
3u----9.14x3=27.42

Q37)

22 March

Q38)

Q39)

a) 18L
b) 42 - 12 = 30L

Q40)

a)B+L=18
L+B+B=26
B=26-18=8
L=18-8=10cm

Pg2




b) 10x 8 = 80
80 x 5 = 400cm?

Q41)

a) 176
b) 2u=176x2 =352

Q42)

a) 128
b) 42

Q43)

b) 3u = 480
u=480+3 = 160
10u = 160 x 10 = 1600ml

Q44)

a) 2u=15.20
10u=5.20x5=$26
b) 3u=4
26 + 4 = 6R2
6x3=18

Pg3




